T # = & g
No. 1
I & # B iR g = REtHE| B | B &
I 2E il =
BEMEBET 1] =
BEYEIELT 1] =
TAIT W MEBZE R
SRR LD B t=15cmlAF 3.7+3.7+0. 3 8] m
TAIT W MEBZE R
Rt t=5cm 3. 7% (2.5-1.85H) 2| m2
mOEEY BELO
Wh)-MEEYEE L AAeT 1.0%0. 1%41. 2 4 m3
BmOEEY BELO
Wh)-MEEYEE L B T 1. 0%1. 2x1. 0-0. 6%0. 8%0. 85 0.8/ m3
HEEY A=A EESE
W -MEEYMEUEL BEWET 2.4 2| m3
FRIE TAI7 5% (3. 7% (2.5-1. 85))*0. 05 0.1 m3
A5 TAI7 5% (3. 7% (2.5-1. 85))*0. 05 0.1 m3
BIZELG., FAOESE
FRIE ) -ba% (FERR) 1. 0%0. 1x41. 2+ (0. 6x0. 664-0. 4%0. 408) 0. 15 4 m3 |ANAH
HiELQ
FRIE ) -ba% (FERR) 1. 0%1. 2%1. 0-0. 6%0. 8%0. 85 0.8] m3 |#H
1. 0%0. 1x41. 2+ (0. 6x0. 664-0. 2%0. 256) *0. 15
A5 Wh)- ek (FERR) +1. 0%1. 2%1. 0-0. 6%0. 8%0. 85 5| m3
iR EHEESE
FRIE vy -k (8% A7) 2.4 2| m3
iR EHEESHE
L) vy -k (8% A7) 2.4 2| m3
KT 11 =
E¥+T 11 =




I x H B % 3 %
No. 2
I & # B iR i g = REtHE| B | B &
ABETEEZSRE
RiEY T 14.3 14.3 10| m3 |BmigsissnY
iR ETHEESHE
RIE Y T 108.5-14.3 94,2 90| m3
ik EHEESE
BEREL RIGHRLE T 4.3 4.3 4 m3
i EHEESHE
HREL W+ (BB A) 15.2 15.2 200 m3 [mmsismsmy
i EHEESH
HRL W+ (BB A) 96. 8-15. 2 81.6 80| m3
BERERA AP =T EESE
HBERL 45 20~ 30mm 11.4 11.4 10f m3 |mBsssY
T EER T8 |BEMSRE =S 4.3 4.3 4] m3
&A1) T8 R (EX) 4.3 4.3 4] m3
T HEER T REZHEHNSIRG 4.3 4.3 4] m3
T EER TE ]G SN H 14.3 14.3 10 m3 |msisusnvy
T HEER T8 IFEH SN H 94.2-4.3 89.9 90| m3
RiIFELR L 14. 3+89. 9 104. 2 1001 m3
BEYI 1.0 1] =%
B O ERIELE 1.0 1.0 1 =
B HaifiE B600*«H700 4.7 4.7 5/ m
1, 200x600%H900
£k 21-8-25(20)H 1.0 1.0 1| &
KR T 18! B1, 000+H600 31.5+43. 5+21. 0+21. 0+1. 5+79. 5+10. 5+1. 5 210.0 210 m




I = o =) 3 B e
No. 3
I i# #H B R i " = REtHE| B | B F
B1, 000+H600

JKER T 28 21-8-25(20)H 0. 6+1. 0+0. 9+1. 1+1. 7+1. 1+1. 0+0. 7+0. 8+3. 0 11.9 12] m
KB T3HY 1.0 1.0 1 =K
BRET B1, 000%H600 1.0 1.0 1 =K
MR E 3.0+1.0 4.0 4 &
FEEHTI R) 1.0 1.0 1] =K
EEHT (L) 1.0 1.0 1] =K
fEEE TN 1.0 1.0 1] =
BT 1.0 1.0 1 =K
BHET 1.0 1 K
HEITAT 1.0 1] K
TR B 49799470 (RC-30) t=10cm |0. 5%3. 7*2 3.1 4 m2
L ERRAE i FE SRR A (M=30) t=12cm |0. 5%3. 7x2 3.7 4 m2
®RE BAEBHEAs (13) t=3cm 1. 4mski# [0. 5*3. T%2 3.7 4 m2
REET 1.0 1 K
TERERT 1.0 1] K
LT 221, 5243, 048mm 1.0 11 R
KETL 1.0 1] =




7 T = o = £ g =
No. 4
I #&# - # B iR Ui g =® REEHE| B | B &
wRFHEEK
i v7" HEK HeKE0m3LL E40m3/hEiEm 1.0 1.0 11 =
REEET 1.0 1] =

RXBHEERE XBFHEZ[HEEB 1.0 1 =




No. 5
I % - # B 3 i ] = RETHE | B | E &
HBRFE 1.0 1] =
HBREEE FEL) 1.0 1] =
B E 1.0 1] =

#HtR 22%1,524%3, 048mm 80%% 802kg/#&
RERM E R E 0. 802x80 64.16 64.16] t




# = g g B
_ - _ _ No. 1
AiEY HREL(REELETL) HRLUL) HRL BRERR)
A =R X Br@m | ¥ | B | BmE | FTYH | XBE|BE | FETBH|ZBE| BB | Y| LB
Wr m Wr m Wr m Wr m
0.6 0.5
No.0 +
0.6 0.60 12.0 05 0.50 10.0
No.0 + 20.0 20.0
IP.1 05 0.55 7.0 0.4 0.45 5.7
No.0 + 32.73 12.7
04 0.45 3.3 04 0.40 2.9
No.0 + 40.0 7.3
04 0.40 8.0 04 0.40 8.0
No.0 + 60.0 20.0
IP.2 04 0.40 6.8 05 0.45 7.7
No.0 + 77.11 171
0.3 0.35 1.0 04 0.45 1.3
No.0 + 80.0 2.9
0.4 0.35 7.0 0.6 0.50 10.0
No.1 + 20.0
0.4 0.40 8.0 0.6 0.60 12.0
No.1 + 20.0 20.0
P4 0.7 0.55 11 0.7 0.65 1.3
No.1 + 22.02 2.0
0.7 0.70 2.0 0.7 0.70 2.0
No.1 + 24.8 2.8
0.2 0.2
No.1 + 24.8 0.0
0.2 0.20 3.0 0.2 0.20 3.0
No.1 + 40.0 15.2
IP.6 0.2 0.20 2.6 0.2 0.20 2.6
No.1 + 53.04 13.0
IP.7 0.2 0.20 0.8 0.2 0.20 0.8
No.1 + 56.8 3.8
IP.7 0.2 0.3 0.1
No.1 + 56.8 0.0
0.2 0.20 0.6 0.3 0.30 1.0 0.1 0.10 0.3
No.1 + 60.0 3.2
63.2 0.0 61.9 6.7
INOE 160.0
& F




B
&l

N S

No. 2
AiEY HREL(REELETL) HELL) HRL BRERR)
A =R X Br@m | ¥ | B | BmE | FTYH | XBE|BE | FETBH|ZBE| BB | Y| LB
BT m BT m B m B m
0.2 0.20 1.0 0.3 0.30 1.6 0.1 0.10 0.5
No.1 + 65.2 5.2
0.1 04 0.1
No.1 + 65.2 0.0
0.1 0.10 15 04 0.40 59 0.1 0.10 15
No.1 + 80.0 14.8
IP.8 0.2 0.15 2.1 0.2 0.30 41 0.1 0.10 14
No.1 + 93.84 13.8
0.2 0.20 1.2 0.2 0.20 1.2 0.1 0.10 0.6
No.2 + 6.2
0.2 0.20 1.1 0.2 0.20 1.1 0.1 0.10 0.6
No.2 + 5.48 5.5
04 0.3 0.1
No.2 + 5.48 0.0
IP.9 04 0.40 04 0.3 0.30 0.3 0.1 0.10 0.1
No.2 + 6.38 0.9
IP.9 1.3 1.0
No.2 + 6.38 0.0
1.3 1.30 17.7 1.0 1.00 13.6
No.2 + 20.0 13.6
1.3 1.30 44 1.0 1.00 3.4
No.2 + 23.38 3.4
0.5 04
No.2 + 23.38 0.0
IP.10 0.5 0.50 0.3 04 0.40 0.2
No.2 + 24.02 0.6
0.5 0.50 34 04 0.40 2.7
No.2 + 30.7 6.7
04
No.2 + 30.7 0.0
04 0.40 1.8
No.2 + 35.3 46
04 0.1
No.2 + 35.3 0.0
34.9 0.0 34.1 47
N E 75.3
& i




¥
&l
IR
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No. 3
RHEY HRLERGRET) HRLAUTE) BHRL BRERAR)
iU Xrgeet| B @ | F ¥ | X B | B m | F B | B |FE | FS | XBE|HE | FY| B
BT @ BT @ BT @ BT @
P11 0.4 0.40 0.2 0.1 0.10 0.0
No.2 +  35.71 0.4
0.4 0.40 14 0.1 0.10 0.4
No.2 + 39.3 3.6
0.4
No.2 + 39.3 0.0
0.4 0.40 0.3
No.2 + 40.0 0.7
IP.12 0.4 0.40 05
No.2 + 4134 1.3
0.4 0.40 0.4
No.2 + 4230 1.0
0.6 05
No.2 + 4230 0.0
0.6 0.60 0.9 05 0.50 038
No.2 + 4380 15
3.7 0.4 0.8 0.0
INE 8.5
1.2%4.7 5.6[0.7x4.7 33
BHEAEAE
1.0 0.6
Sok#t
(2.5-1.85)*0.2 0.1
7K & T 3% (FH%EER)
6.7 39
s
1085 43 96.8 114
[ & &f 24338
HiFFFHY
A1+24.8~2+6.38 14.3 0.0 15.2 11.4
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1. 0X4p

T
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B 2V

AL

%

=
2N

%

BRAHHEE Y

B A S T

BELO PU2-B400-H400 L=4.7m
425kg/2m*4.7/2,500=0.40

m3

2.4

HEL® PU2-B300-H300 L=0.4m
320kg/2m*0.4/2,500=0.03

H#EL@® PU1-B600-H600 L=2.8m
211kg/0.6m*2.8,/2,500=0.39

BUEL® IR
1.85%4.0%0.2+0.15%0.15%1.85%2=1.56

#t+ 0.40+0.03+0.39+1.56=2.38

B L SR ERE

HOREAR

1. 0X4p

it

B 2V

AL

e

%

29—
EseU)

BEE15cm
0.6*%0.664-0.4*%0.408=0.24

m2

0.2

SKHEE EEHOVE3emZE B A 6cmPL F 7= 3alE

0.2m2%*3[1]=0.6m2




H B2 EMEE  B600%H700

S G

10. Om34¥
T f& B K B % & G
B600*+H700%L.2,000 (£ % & £:885kg)
H A LR 5.00 & 5.0
T-2 PIE600447° L=50cm 2’ AftE §0) (ki 7°(H L B24ke)
rv—FrE 5.00 % 5.0
T-2 WIE600447° A5 #H2Mciha47° (358 8 72ke)
avy—hEE 5.00 e 5.0
21-8-25(20)H
AN =hayY)—h 0.60%(0.14+0.106)/2%10.00=0.74 m3 0.7
21-8-25(20)H
Fefkay yy—h 0.93%0.15%10.00=1.40 m3 1.4
U 0.15%2%10.0 m2 3.0 BEHKE
M 1,200%600%H900 Bt E
1. OffiFT 40
T f& B K B % & 8
BLG T HAEK M 21-8-25(20)H
R N ) 1.0%1.6%1.05-0.6%1.2%0.829-0.72%1.32%0.071-0.3%0.3%0.15 m3 0.76
-1.0%0.60.15-0.3%0.4%0.25-0.5%0.05%0.24-0.6%0.75%0.25
-0.05%0.05%0.75%2=0.76
21-8-25(20)H
Fepka yy—) 1.1%1.7%0.15=0.28 m3 0.3
WU (1.1+1.7)%2%0.15=0.84 m2 0.8
Pv=ForETEH T-2 £9I%600%1200 2K0EN 2 bfZ T 1LDI(T" ZHedt SHEAHE R
(TELIAFREAT") 1.00 HH 1.0 |96.3kg
Tl (1.0+1.6)%2%1.05+(0.6+1.2)%2%0.979-0.3%0.3%2+0. 3%4%0. 15 m2 8.0 ZEHE
—1.013%0.6%2+(1.013+0.6)%2%0.15-0.6%0.75%2
+0.75%2%0.25+0.6%0.25-0.4%0.3%2+(0.4+0.3)*2%0.25=0.799




KT 17 B1,000%H600 WEEEE
10. Om34¥
T & B =X B & )
kfmav Y-k
i SR b P A 10.00 m 10.0
600+1,000
M7 —ABIE) 10/1.5 7N 6.7
iR 300450%1,415
Yy HVBAY 10/1.5%2 % 13.3
M 4o b 400%50%1,415
NEVBEIHIR) 10/1.5%2 #e 13.3
21-8-25(20)H
B 7Y~ 1.128 m3 1.1
K% T2 B1,000%H600 BEHAEE
10. Om34¥
T & B =X B R & )
BUGFI B K 21-8-25(20)H
RAE) (1.3*%0.75-1.0%0.6)%10.0=3.78 m3 3.8
T 0.75%4%10.0=30.00 m2 30.0 | BB E:
21-8-25(20)H
Fefkay yy—h 1.4%0.15%10.0=2.10 m3 2.1 | BEHE
U e 0.15%2%10.0=3.00 m2 3.0 &




K T35 BEFHAEE
1. 054y
O i B X HOr ) H o= g B
21-8-25(20)H
Feftkay yy—h 0.3%0.15%4.0%2=0.36 m3 0.4
b iy 0.15%4.0%2=1.20 m2 1.2
21-8-25(20)H
JEFT B )Y —b 1.0%0.15%4.0=0.60 m3 0.6
21-8-25(20)H
avy)—p 0.25%0.72%4.0%2=1.44 m3 1.4
Tl e 0.72%4.0%2=5.76 m2 5.8
24-12-25(20)H
avyy)—h 1.5%(0.25+0.23)/2%4.0+1.5%0.38%0.15%2=1.61 m3 1.6
PR 1 1.15%1.0%4=4.60 m2 4.6
A1000/H GRC#Y 37/10%1,150%1,000
A3 FH PR RS TR A 4.0 # 4.0
Tl e (0.15+0.38+0.15)%1.5%2=2.04 m2 2.0
SD345 D16
E7NiL] 1.4%43%1.56/1,000=0.094 t 0.094
SD345 D13
E7NiL] (4.2%15+0.28%8%2+1.4%2)%0.995/1,000=0.070 t 0.070
SD345 D13 #=f%
E7NiL] 0.2%14%0.995/1,000=0.003 t 0.003
BIE T B1,000%H600 HoEEtEE
1. 054y
O i B X HOr ) H o= g B
TVRRAMK v AFR B 1.90 m 1.9 |fitkiiod ML
TVFAMR S AR 16.00 m 16.0 |fitkiDAY
21-8-25(20)H
Feftkay yy—h 1.46%0.2%18.0=5.26 i 5.3
b iy 0.20%2%18.0=7.20 i 7.2
T-25 B1,000%H600%L2,000 #2 %
RCH'yJ AN —=b 5.00 A 5.0
T-25 B1,000%H600%1.2,000 &5
RCH'yJ AN b 1.00 A 1.0
T-25 B1,000%H600%L2,000 &3 H AZ75yh
RCH'yJ AN —=b 1.00 A 1.0
T-25 B1,000%H600%1.2,000 #AAAT Tyl 454 Hin=4
RCH'yJ AN —=b 1.00 A 1.0
T-25 B1,000%H600%1.2,000 &3 H #A77b 854 Hin=4
RCH'yJ AN —=b 1.00 A 1.0
SWPR7B ¢ 15.2mm L7,550
PCHi LD HRE 4.00 7N 4.0
SWPR7B ¢ 15.2mm L9,550
PCHi LD HR 4.00 7N 4.0
PCH LY %5 SWPR7B ¢ 15.2mm}H
EAEe R 16.00 HH 16.0
RNV 1.26%0.03%18.0=0.68 ni 0.7 ZEHE:




REWTHR R & BEFHAEE
1. 0¥y
T ) =X B & G
NHIV 300%50%1,495(Z £ F52ke)
B Y — M 1.00 # 1.0
filEt s T.(R) BEHAEE
1. 0X4p
T ) =X B R & G
AT B4k t=10mm 98N/5cm
W LB IR A 0.2%32.0=6.40 m2 6.4
1:3BB
EMIV 0.13%0.132.0=0.42 m3 0.4




ENANV

0.2%(4.6+3.0)=1.52

fil i 6O 1.(L) BEHAEE
1. 0X4p
O i B X HOr ) H o= g B
AT B4k t=10mm 98N/5cm
W LB IR A4 0.2%81.6=16.32 m2 16.3
1:3BB
ELAN 0.13%0.1%81.6=1.06 m3 1.1
RGO ENVAN BEHAEE
1. 0X4p
O i B X HOr ) H o= g B
1:3BB
m3 1.5




B L BEFHAEE
1. 0X4p
T & B =X HOr ) H o= )
R IRHKE
VP ¢ 100 0.30 m 0.3
IR E
VP ¢ 125 0.30%2=0.60 m 0.6
R IRHKE
VP ¢ 150 0.30%5=1.50 m 1.5
B PR BEFHAEE
1. 0X4p
i B =X HOr ) H o= )
RE - 1,524%3,048+80=371.61 ot 371.6
22%1,524%3,048
joves 80.0 K 80.0




